lecture 3
The sound patterns of language
sisall Qi) 5 dall

% Phonology: is the description of the systems and patterns of speech sounds in a language-

42l < Gpall il gy Qalni YR Lﬁﬂ\ (-.Ld\ s Al gall ?b
% Phonemes: are meaningful sounds, if one sound is used instead of the other in a word its

meaning will change- /¥ and /v/ Fat and vat
pdan line A 3 AY) e Yoy aaly Gigea aladiu) & 13, Gee Gl Gl sal) 8 rl saall
dupa 5 ANV 5 /)

7 phoneme = multiple letters 7k = ‘¢’ in ‘cat’

sddiall (i Al = aaly Gigua ‘k’ in ‘bike’

2 letters together = 1 phoneme ‘th’ = /0/ as in ‘thing’

JA\} t_ijm=la.4u1.5);

2 letters together = 1 phoneme ‘ch’ = /k/ in ‘chemistry’

JA\} u}m—h.nul.s);

% Phones and allophones: phones are different versions of sound-type regularly produced in
actual speech- They are phonetic units and appear in square brackets- When we have a set
of phones, all of which are versions of one phoneme, we add the prefix “allo-” (one of a
closely related set) and refer to them as allophones of that phonemes- [t] sound in the
word tar is normally pronounced with a stronger puff of air than is present in the [t]

sound in the word star - (aspiration)

Sisall Claag o sedell lha b WUkl S Gigeall pgi e Adlite S jlaal il gl bl cililiy i sl
Dol s ol Wil aaly e Cpnal LS wciil gl o desana Ladl (58 Ledie <(Raipe el ) i siae o
& Cgall [t] sall (e allophones O WS el gl (s Wil dasi 5 de gene (e B3l5) “gllo-"
(ki) - asni (star) S & [t] 25 s WS olsed)l e o8 438 ae 3ile sariie LK (Cpadll) ) yladll
(T5<b)

% Minimal pairs and sets: when two words such as pat and bat are identical in form except
for a contrast in one phoneme, occurring in the same position, the two words are
described as a minimal pair- site - side, bet - bat, night - right, might - fight- One
minimal set based on the vowel phonemes (4eat, 4it, hat, hot, kut, khate), and another

minimal set based on consonant phonemes (big, pig, rig, fig, dig, wrz)-
gsall G ol Ciga lie Led Olighiie pat s bat  Jie el Lve culS 13 ;&) Gle sendly g1V

pexanss W (big, pig, rig, fig, dig, wrg) Jie GilS e S SIS W5 - minimal pair sgees W
- minimal set
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% Syllables: — hd ahis
A syllable must contain a vowel or vowel like sound, including diphthongs- The most common
type of syllable in language also has a consonant (C) before the vowe/ (V) and is typically
represented as CV- The basic elements of the syllabus are the onset (one or more consonants)
followed by the rhyme- The rhyme (sometimes written as “rime”) consists of a vowel which is
treated as the nucleus, plus any following consonant(’s), described as the coda-
& isa phia o le i BV gl ccldeay) @l By (sl Jie de G sl Ale Giga ahaie Lo gsiad of
SST g aals) By o geiall Al Sl cCV Lol Jiad Ay (1) Al s 8 (C) oSle Laaf Lal 42l
Jali ) e Caja e oS (A1) (B8 (8) * (7 pime” ab Ul 5K ) A8l AdE gl (RS G all
(A el b mse s LS Al (5) oSke ol S AlaYl @l @l e

' syllable |

l Consonant(s) \ Nucleus coda

r |

vowel Consonant(s)

Syllables like s7e, to or no have an onset and a nucleus, but no coda- They are known as open
syllables- When a coda is present, as in the syllables up, cup, at or k4at, they are called closed
syllables-

The basic structure of the kind of syllable found in English words:

green (CCVC), eggs (VCC), and (VCC), | (V), do (CV), not (CVC),

like (CVC), them (CVC), Sam (CVC), am (VC)

die 5 s gl plalidl digjee (& LS Aall Gipm dny Jisa ghie 2 Y Sl Gl Dy L 0 Y Gl ¢t palid)
Adlall aalial e oy W yp, cup, gt or hat, (R A JS s LS dlall Gpa an (Jea ahie gag
Ayl Gl 8 Gy adaie (e gl 13gd Dpulul1 Al
% Consonant clusters: (SLdl caijall Cle gane
Both the onset and the coda can consist of more than one consonant, also known as a consonant
cluster- The combination /st/ is a consonant cluster (CC) used as onset in the word stop, and
as coda in the word post- Examples, black, bread, trick, flat-
/st/ On eeall O, AL A iy L Cagmally (0Sle Gisa e ST (e S5 O (Say Al Ciga amy adailey Ay S
_black, bread, Al A AT & Aall Giga ay ¢(stop) g K Dla B kil (CC) (Klu de sana (A
trick, flat
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% Assimilation: Claginy)
When two sound segments occur in sequence and some aspect of one seqment is taken or
“copied” by the other, the process is known as assimilation-
Gy ¢ AY) Cashll J8 e Y gl aaly dakd e il sal) (amn T sy Julud 8 Gosd Gl Gl e e 05SE Lexie
syt Alaal)
Examples,
have / have to go (in everyday speech) (=si —bill )
good girl g009 g1/
good boy goot boy
% Elision: ( Gsa S | Hed)) Ll
The process of not pronouncing a sound segment that night be present in the deliberately careful
pronunciation of a word in isolation is described as elision-
(reledls Ao ) -blau) oo ome 4 Bl laee @A 8 sasmge o585 AW @l (8 Ggall Bhi s ddee Chas
Examples:  you and me (d sound is not pronounced) (d “s= by Y )
Hrendstp (d sound is not pronounced) (d “sa Ghu Y )
he must be (t sound is not pronounced) (t “ypa Ghi Y )

% Study questions

% Do exercises 2, 3 and 6 in page 49-

2_ What is an aspirated sound and which of the following words would normally
be pronounced with one: kill, pool, skill, spool, stop, top?

A aspirated sound is a puff of air and would be pronounced with pool, spool, and stop-

3_Which of the following words would be treated as minimal pairs?

ban, fat, pit, bell, tape, heat, meal, more, pat, tap, pen, chain, vote, bet, far, bun, goat,
heel, sane, tale, vet

goat vote, fat far, bun ban, chain sane, heel heat, bet bell, pat fat, pit pat, vet
bet-

6_Which segments in the pronunciation of the following words are most likely to be affected
by elision?

(i) government (i) postman (iii) pumpkin (iv) sandwich (v) victory

Government- /n/ - gavorment

Postman- 7t/ as in “tuh”- pouvstmen

Pumpkin-  /p/ in second part of pumpkin -pamkon

Sandwich - /d/ senwitf

Victory-/t/ as in “tour” wviktouri

~.. pSil g
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